
· ·
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x1
fAk

1 · · · xn
fAk

n

c1 wk
1 , · · · , cm wk

m

xi fAk
i = {Ai1 ∨

· · ·∨Aini}
j wk

j

k
j

xi

k fAk
i

F

cs

exp

μAk (e) k e
xi

μAk (e)

min{1, a + b}
a · b

� �

wk
j

x1 x2

c1 , c2

[100|101||0,8|0,2]
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23

15

11

10

15

12

exp

.9.95.05(*,M)

. . .

Fw1w0

1

.8

.1

.2

0

10(SM,S)

.6.2(L,L)

.8.9(S,L)

.6.8(L,M)

11(S,M)

23

15

11

10

15

12

exp

.9.95.05(*,M)

. . .

Fw1w0

1

.8

.1

.2

0

10(SM,S)

.6.2(L,L)

.8.9(S,L)

.6.8(L,M)

11(S,M)

10.8.1.9(S,L)

23

15

12

.95

1

0

.9.05(*,M)

10(SM,S)

11(S,M)

10.8.1.9(S,L)

23

15

12

.95

1

0

.9.05(*,M)

10(SM,S)

11(S,M)

Conjunto de
reglas correctas [C]

Población

Conjunto de
emparejamiento [M]

Ejemplo: (3.15, 1.8) Clase: 1

emparejamiento

exploración

23

15110(SM,S)

.95 .9.05(*,M) 23

15110(SM,S)

.95 .9.05(*,M)

S LM
1

0 10
3.151.8

Actualización
de parámetros

Aplicar
AG?

AG = selección +
cruce + mutación

explotación
Razonamiento: inferir clase

Flujo de
ejemplos

μAk(e) k
e 0 ≤ μAk(e) ≤ 1

e c

wk
c

c

e

e

P#

173



cmj k
j

cmk
j = cmk

j + m(k, j)

m(k, j) =

(
μAk (e) j = c

0

sm

smk = smk + μAk (e)

wk
j

j

wk
j =

cmk
j

smk

wk
j

k
j

wk
j

F k = wk
max −

X
j|j �=max

wk
j

θGA

μAk (e) ·F ν ν

χ μ

k
expk > θsub F k > F0
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Pdelk =

(
csk · numk ·

F
Fk

exp > θdel δF > Fk

csk · numk

F
δ θdel

0 < δ < 1 θdel >

e

exp > θexploit

j

μAk(e) · wk
j
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acc0 ν θGA χ
μ θdel θsub δ P#

F0 ν θGA χ μ
θdel θsub δ P#

x1 ∈ x2 ∈ x3 ∈

x4 ∈

x1 ∈ x2 ∈ x3 ∈

x4 ∈

x1 ∈ x2 ∈ x3 ∈

x4 ∈

x3 x4

F =

x1 x4

F =

x3 x4

F =
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